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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Mention two functions of ‘NABARD’.

Ú±ı±ÀÎ«¬ı˛ ≈øÈ¬ fl¬±Ê Î¬◊À{°‡ fl¬Àı˛±/

(b) Write two main objectives of land reforms in India.

ˆ¬±ı˛ÀÓ¬ı˛ ˆ”¬ø˜¸—¶®±Àı˛ı˛ ≈øÈ¬ õ∂Ò±Ú Î¬◊ÀV˙… Œ˘À‡±/

(c) Define disguised unemployment.

ÂΩÀı˙œ Œıfl¬±ı˛Q fl¬±Àfl¬ ıÀ˘∑

(d) What is Primary sector in any economy?

Œ˚ Œfl¬±ÀÚ± ’Ô«ı…ı¶ö±˚˛ õ∂±Ôø˜fl¬ Œé¬S fl¬±Àfl¬ ıÀ˘∑

(e) Define National Income.

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ¸—:± ±›/

(f) What do you mean by developing economy?

Î¬◊iß˚˛Ú˙œ˘ ’Ô«ÚœøÓ¬ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑
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(g) Mention two causes for low productivity in Indian agriculture.

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯Àé¬ÀS ¶§ä Î¬◊»¬Û±Ú˙œ˘Ó¬±ı˛ ≈øÈ¬ fl¬±ı˛Ì Œ˘À‡±/

(h) Give the full form of ICICI.

ICICI fl¬Ô±øÈ¬ı˛ ¬Û”Ì« Ú±˜ Œ˘À‡±/

2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define green revolution. Mention merits and demerits (two each) of green revolution.

1+2+2=5

¸ı≈Ê øıõ≠ı fl¬±Àfl¬ ıÀ˘∑ ¸ı≈Ê øıõ≠Àıı˛ ≈øÈ¬ fl¬Àı˛ ≈̧Ù¬˘ › fl≈¬Ù¬˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) What do you mean by Per-Capita-Income? Mention briefly the difficulties in estimation

of national Income in India. 1+4=5

˜±Ô±ø¬ÛÂ≈ ’±˚˛ fl¬±Àfl¬ ıÀ˘∑ ˆ¬±ı˛ÀÓ¬ Ê±Ó¬œ˚˛ ’±˚˛ ¬Ûøı˛˜±À¬Ûı˛ ’¸≈øıÒ±&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) Discuss the role of small scale industry for promoting economic development in India.

ˆ¬±ı˛ÀÓ¬ı˛ ’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚ é≈¬^ø˙Àäı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) What do you mean by land reforms? Write a short note on necessity of land reforms in

Indian economy.

ˆ”¬ø˜¸—¶®±ı˛ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ˆ¬±ı˛Ó¬œ˚˛ ’Ô«ÚœøÓ¬ÀÓ¬ ˆ”¬ø˜¸—¶®±Àı˛ı˛ õ∂À˚˛±ÊÚœ˚˛Ó¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(e) Discuss briefly the grounds for and against mechanisation of agriculture in India.

2½+2½=5

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯ÀÓ¬ ˚Laœfl¬ı˛ÀÌı˛ ¬ÛÀé¬ › øı¬ÛÀé¬ fl¬±ı˛Ì&ø˘ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬Àı˛±/

(f) What is the difference between under employment and unemployment? What is the relation

between poverty and unemployment? 3+2=5

’Ò«Àıfl¬±ı˛Q › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑ ±øı˛^Ó¬± › fl¬˜«˝œÚÓ¬±ı˛ ˜ÀÒ… ¸•Ûfl«¬ Œ˘À‡±/
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3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Analyse the problems of agricultural marketing in India. In this context discuss the role

of co-operatives. 6+4=10

ˆ¬±ı˛ÀÓ¬ fl‘¬ø¯∏ øı¬ÛÌÀÚı˛ ¸˜¸…±&ø˘ øıÀù≠¯∏Ì fl¬Àı˛±/ ¤ √õ∂¸Àº ¸˜ı±˚˛ ¸ø˜øÓ¬&ø˘ı˛ ˆ”¬ø˜fl¬± ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Discuss the various types of unemployment in India, and also explain the governmental

policies towards solving the problems of unemployment. 5+5=10

ˆ¬±ı˛ÀÓ¬ Œıfl¬±ı˛ÀQı˛ øıøˆ¬iß Òı˛Ì&ø˘ Œ˘À‡± ¤ı— Œıfl¬±ı˛Q ”ı˛œfl¬ı˛ÀÌı˛ ¸ı˛fl¬±øı˛ ÚœøÓ¬&ø˘ ı…±‡…± fl¬Àı˛±/
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